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7" Linear Equation of one variable Test Paper
1. The sum of two numbers is 43. If the larger is doubled and the smaller is tripled, the difference is 36. Find the numbers.

2. The sum of the digits of a two digit number is 12. If the digits are reversed, the new number is 12 less than double the

original number. Find the number

3. A number of two digits exceed four times the sum of its digits by 6 and it is increased by 9 on reversing its digits. Find the
number.

4. There are 38 coins in a collection of 20 paise coins and 25 paise coins. If the total vaL e of the collection is Rs 8.50, find

the number of 25 paise coins.

5. The sum of ages of A and B is 40 years. Five years ago, twice the age of A added to three times of age of B was 70

years. Find their present ages.

6. Four years ago, Sumitra was three times as old as her daughter. Six years from now the mother will be twice as old as her

daughter. Find their present ages.
7. Solve x -3y = 3x -1 = 2X -y.

8. Six years hence a man’s age will be three times his sons age and three years ago he was nine times as old as his son.

Find their present ages.[ 30 years, 6 years]

9. Rani has currency notes of denominations Rs. 100. Rs 50 and Rs. 10 . The ratio of the number of these notes is 2:3:5

respectively. The total cash with Rani is Rs. 4. 00.000. How many notes of each denomination does she have?

10. (@3 -5—3@-2) =2 ®x- 1)—[zx—1;—"] =x+2

11. Divide 150 into three parts, such that the second number is five-sixths the first and the third number is four-fifths the

second.

12. In an isosceles triangle the base angles are equal and the vertex angle is twice the each base angle. Find the measure

of each angles?

13. The ages of Rahul and Haroon are in the ratio of 5:7. Four years from now sum of their ages will be 56 years. Find their

present age
14. Hari and Harry's age are in the ratio of 5:7. Four years later the ratio of their ages will be 3:4. Find their current age.
15. Divide 184 into two parts such that one third of first part may exceed one seventh of the other part by 8.

16. A laborers is engaged for 20 days on the condition that he will receive Rs 120 for each day he day he works and will be
fined Rs. 10 for each day he is absent If he receives Rs. 1880 in all .For how many days did remain absent?

17. How much pure alcohol must be added to 400 ml of a 15% solution to make its strength 32%

18. Two equal sides of triangle are each 5 m less than twice the third side. If the perimeter of triangle is 55m Find length of
each side

19. Five years ago a man was seven times as old as his son. Five years hence the father will be three times as old as his

son. Find their ages?

20. Two supplementary angle differ by 10 find larger angle?



JSUNIL TUTORIAL

1) Let one nobe o (farger no)
(+) =) ofher. M0 will be @‘3'9
Ay ax - Ypp-x) =3¢
2% —(29+3% =36

5% :36+’°‘?
x = 695 =33

- Pma% ao = 33
Ofhc hO = 43-33 =/0D

T

@) leF A Ao diyib nas> lo3ty
A!%_a m.q.?:lﬁ- '%r:—'a-‘-

Yo > (oy+x)  =2fox +y}-r2

7 Bp= =B paysiE
=) loy—z,\{ = 20x-—-x - I}
=) 8‘( = 9= —

Put [x = 12—y
39 8y = 19(12-y) =12
5 &y = 228 —I19y-=Ix

D 8y +19y =228-n
3y = 2’6__?722.14/,7 =8
Y =8 -_9:;:12.-7-_!1-8'-"-4-
3 Re_.r-cu)-e.'ﬁ no =948




JSUNIL TUTORIAL
. @ Let He mod‘ﬂ’uwa :fgl.,.r

511—7 [0 +7 = $(x+)) + 6
3 lox 4y = 4a+4y 1€

lon—4x = %Y} +6

ﬂ [
x]=3= +6 = =
"; C;] .3: gjz-rl]ﬁw
+)+3 = (lo + )
% (g = O

3 Jox-x +3 = oy =¥
q (ax.-»s]-e-g:(s#)-;-_);

I
2 |x+! = ‘jj
;*' =2% -2 (ﬁoﬁv G?)
3
- n %
—:s l;:x Y = -2 = 2y~

- | se (oin=

4. Tofel Cring =38, F 2.0 pase Coina 2
=) 25 poss Crns =(38-)

Ao Co-:-o)c.z-.) + DaSX(3e-x) =8.50

2 0.20x + 9-50 -0.15x =850

=) -~ 0.05x = 850-5.50 =-1
- =
X = EIBS = 19¢ . .
. 2o Padsa Coin =20, 1‘;}!‘.'“ Cotu:38-zo:f9



JSUNIL TUTORIAL

O Lo W5 geox, 85 ge=gos o
SZn‘f?a j(ﬁ_g) .f-;_r_(?'o-?(-g:-?o

? 29 — [0 -+ | )
o) —X +9s =70

s -70 = X
2 95 -7

25 =% e
i A's oge :—.:-EJ"-‘-;B'S age 2 9 "S”“‘J"

¢ o 44 %o,;bmj/“'”ljs age =
3 frawk oo > [Puughlen =620
9 Sunitye = Gr+ D pe-
%, - Wu 675? Suma fre oge = 2.)<,)ufh;fuaae¢
= Bx+r 45 = f(h-i-q)-rG} X 2.

'-"') 3x + (© =
=3 32'—11 - 30 =0

- o = (O
7 Moy Praaent ofc =n+é
» Dw‘j P o [o.{.(_’: |4_7_’$
Sonuke’s e = It 4 = ax0+ 4
:34—7)3 .



JSUNIL TUTORIAL

@ 7(-'37 = 2xX -] = 2x-)
x—‘b‘{ - 3% —| , 3X- ':-‘-1-)1"},

'% ""37"’" = 2x—-XL Bx—zx = __7_‘.!

-.3—-31—1-! = = = -}

| , Sems afe =%
(et Aifer ©
s ‘%"fla-n'sﬁ‘-? = =
Present oge ) o7 e G’ ) A
2 Nzamﬂc fe :@k—ﬁ)TL\

32Y = '
! l\afﬁi's«fa = gxdmis o

[-@*'"6)-3] —q [Z -€)-3

) 3>=-3 = 9(x-9)
P 3% -9 = 9x-8/
2 ~-9+8 = Jx—3%
=) L = 66X
D o =(1
Sen'S «pe -~ x-6=(2-6=CYx

Mon'g =€ = 3%—¢2 X124 =30 |



JSUNIL TUTORIAL

9. M&[OUM@: 27
pks‘;omm-:- 3’;
2y |0 note = 2

3 ({50 X +(.‘>’0>‘39+(107L99=4,w,oao

g00x + 15P2¢ 4 o= = }4,04000
0

q 400& - 4’)00_) 000

& x = 00,0005 560
2

: 2 10O
'Sol wm;‘“ == 2000 nolis

= e
noha = SJ‘M-.?ﬁoo Mm
ek = S“Haao:-sma

=3
=
|2 £
_:a 8”"4'0—3*' + 6 :%x}’ﬁ |
) Ex - 34 = S%- (:)_.3‘.,.(71.')._(9‘""2
. Ry 4 = 88 [
5 fsf-ﬂ ¢ (-l (-,
= X = =17 .l_';’_f_ 3 =
(‘"}“%, = 3 (7%-1) ~{x- = y2Ix-3-lox+2
= ([-3) 4.
2x+3 - 3 (7)) — f i‘;’_ﬂii o el veed
z::g ‘;’ 1%-1) - 4-k—!+~j 5 T4 T T 2
T —-‘;‘-( \7;7\ i 2L n =2 =P +/L

J 2ix-FPk =/2+2

? 14k =g D=



JSUNIL TUTORIAL




JSUNIL TUTORIAL

13. Lek Qafw/i‘ ‘jﬂ =S%
bnd  Hanen g T

Fotn Y foomv NOK .
e ‘_SM/ d&'f :5
(exry) +(7144)>5°
- + & = |
| 2x =5%-8
Z 2% = 48
x =&

H g?,':.-‘{l‘l'"
S5 Xth -3 4,
———‘71_” =T 3 ox+(b=2n+I2

3 ox-dn = -6 Sx=fe

2= & Handwpe = sy 20y
H‘A?a# =7x(f:-2'87\6.



JSUNIL TUTORIAL

5. Lef Fost pont = x, ,u’c}fm = (i%y-2)
A/ . ~ o &
e, = -é—h g Isf W - i*‘ &MW#‘

2 F*x = éf"‘l"") o

%__ _ éuw-—a) - §

=
2 T - ';_Clﬂ-'i)___ = ¥

- 2/
3 7x - 55232 = &%
2 f[ox = 169‘*‘“-1

ﬂ fﬂx —-— }Zjo

= 73 - 72
x > D2

5 24090 -/0%x=jox = I£80
D LYoo —130% = /P8O

7) 24oo —fpo =302

29 520 — 130X



JSUNIL TUTORIAL

(3. Sefuhen = feon
Aiaket =15 o -b0r!

M x mf odcohot Gdded +o wmake

W32 9 Mo = Gord
Now Sofuhar=Goo+%) ¢ )y,

3 32 (4o0tx) =(o+X)
5 325 (4e0e) = o+
? %'(éo.f-x')

3 g(40+x) =
7 3200 +8% = ISDO + XX
-7’ 32eo —ISDO = 28x — 8%
2 ;7eo = 7%
2 X = l7cr1>/|7 :-!0_1_"'_{',_

Co, ool aleetl addad fo mote
325 Concanprotion . //.<)
f@.wM:—?L am N e
ane = 1% &L*\-- s

-

f:. Sum % all Sedey =

D ST e in4x DIk 2SS ~ I
' T s'

v lwo ~C1kni Sedag = 1220 m

14\4./...,{ Al = Um,



JSUNIL TUTORIAL

B—

Flt o o 1
[@‘ “ ?m %?Q JM% _-?.x* I

e __/Wz,z iﬁ;g N Sy B !
', - Mam 7K 5;;;1_:?— !:?;A" +_5;?_..mw-_~—-——

—4;# Vi Zum J//M = .-Qmﬂ,i?,g X 4—-&5!—;;5 —
o il —

/%m % . goc+S+S
| 2? = Jx -£/D

i
P
!

i é = _73«_; = ?E:rﬂﬁm %

:j Jsrqlm - J:.r_j—_.g_ﬁ
-\ Zv _ 8o = 820 = [0

——
i
-
pEmm——
S

\

| |

B --J-:r Dep 2m
3 = - %5
= 4 — =
e Bom A a0l — o 45 = 575=/D
A Maw s Ggp = Fax 45 =
/ = ?X% +5
-~ 25 A4 S
B — D024k
. a




